










5.46
Resposta:
(a)

Av = −
R1 + 1

gm2
||rπ2

1
gm1

+ RE

Rin = rπ1 + (1 + β1)RE

Rout = R1 +
1

gm2
||rπ2

(b)

Av = − RC
1

gm1
+ 1

gm2
||rπ2

Rin = rπ1 + (1 + β1)
(

1
gm2

||rπ2

)

Rout = RC

(c)

Av = − RC
1

gm1
+ 1

gm2
||rπ2

Rin = rπ1 + (1 + β1)
(

1
gm2

||rπ2

)

Rout = RC

(d)

Av = − RC
1

gm1
+ 1

gm2
||rπ2 + RB

1+β1

Rin = RB + rπ1 + (1 + β1)
(

1
gm2

||rπ2

)

Rout = RC

(e)

Av = − RC
1

gm1
+ 1

gm2
||rπ2 + RB

1+β1

Rin = RB + rπ1 + (1 + β1)
(

1
gm2

||rπ2

)

Rout = RC

5.52
Resposta:
(a) Av = −8, 60.
(b) Av = −21, 54.
(c) Av = −14, 98.



5.55
Resposta:
(a)

Av = gm1

(
RC +

1
gm2

||rπ2

)

(b)
Av = gm1rπ2

(c)

Av = gm1

(
RC +

1
gm3

||rπ3

)

(d)

Av = gm1

(
RC +

1
gm3

||rπ3

) (
RE || 1

gm1

RE || 1
gm1

+ RS

)

5.56
Resposta:
(a)

Rin =
rπ1 + 1

gm2
||rπ2

1 + β1

(b)

Rin =
rπ1 + R2

1 + β1

(c)

Rin =
rπ1 + R2|| 1

gm2
||rπ2

1 + β1

(d)

Rin =
rπ1 + R2||rπ2

1 + β1

5.58
Resposta:
(a) IC = 1, 02 mA, VBE = 725 mV e VCE = 1, 07 V.
(b) Av = 39, 2, Rin = 23, 9 Ω e Rout = 1 kΩ.

5.68
Resposta:
(a)

Av = 1

Rin =∞

Rout =
1

gm1
||rπ1

(b)

Av =
1

gm2
||rπ2

1
gm1

+ 1
gm2

||rπ2



Rin = rπ1 + (1 + β1)
(

1
gm2

||rπ2

)

Rout =
1

gm1
||rπ1|| 1

gm2
||rπ2

(c)

Av =
rπ2+RS
1+β2

1
gm1

+ rπ2+RS
1+β2

Rin = rπ1 + (1 + β1)
(

rπ2 + RS

1 + β2

)

Rout =
1

gm1
||rπ1||

(
rπ2 + RS

1 + β2

)

(d)

Av =
RE + 1

gm2
||rπ2

1
gm1

+ RE + 1
gm2

||rπ2

Rin = rπ1 + (1 + β1)
(

RE +
1

gm2
||rπ2

)

Rout =
1

gm1
||rπ1||

(
RE +

1
gm2

||rπ2

)

(e)

Av =
1

gm2
||rπ2

1
gm1

+ RE + 1
gm2

||rπ2

Rin = rπ1 + (1 + β1)
(

RE +
1

gm2
||rπ2

)

Rout =
(

1
gm1

||rπ1 + RE

)
|| 1

gm2
||rπ2

5.69
Resposta:
(a)

rπ1 + (1 + β1)rπ2

(b)
rπ2 + 1

gm1
||rπ1

1 + β2

(c)
β1 + β2(1 + β1)

5.71
Resposta: Av = 0, 84.

5.80
Resposta: R1 = 4, 41 kΩ, R2 = 3, 62 kΩ, RC = 500 Ω e RE = 92 Ω.



5.83
Resposta: R1 = 29, 33 kΩ, R2 = 20, 83 kΩ, RC = 1 kΩ, RE = 495 Ω e CB = 1, 58 µF.

5.88
Resposta: R1 = 220, 77 kΩ.


